Name: Class: Date: ID: A

@WP 10 - Ch.3 Factors & Products Review Assignment (ver.12-12-A) /? O

Multiple Choice ( d marks ea oln)
Identify the choice that best completes the statement or answers the question.

E , 1. One neighbour cuts his lawn every 8 days. Another neighbour cuts her lawn every 10 days. Suppose both
neighbours cut their lawns today. How many days will pass before both neighbours cut their lawns on the
same day again? ———

a. 80 days b. 60 days c. 2days 'd. 40 days N
D

. Determine the side length of this square.

}
I

+  Area=3969 cm?2 -

———
(\ cm\ b. 1583cm c. 99225cm d 441cm
i\ \.

—

3. Determine the edge length of this cube.

Volume
=911 3
91 125 cm ~
(X( a. 301.87cm b. 45cm ¢. 6.71cm d. 3375cm

4. A cube with volume 729 m? is to be painted. Each can of paint covers 32 m?. How many cans of paint are

nee aint the cube?
b. 23 c. 13 d 15
¢ or"fh_e15~n¢:)m13l-§0m2 —40m*.
—~10m* (1 + 4m?) ) c. -10(m* +4m")
b. '

-10m* (4m™) d. —5m’(2+8m’)
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| ) 6. Identify the greatest common factor of the terms in the trinomial 6s°¢* + 125*¢2 — 1552¢".
a. 6s°F c. 35’
b. 3s’F d. 357

b
7. Factor the trinomial 20a’b — 25ab + 45ab’ .
~a.  Sab(4a —5+9b) c. ab(20a -25+45b)
b. Sab(da —Sab + 9b) d. 5(4a’b -5ab+9ab?)

8. Which of the following trinomials can be represented by a rectangle? Use algebra tiles to check.
a. p 43y+12 ‘ c. Yy +8+15 =

b. ¥ +12p+5 d_yi+14p+3

9. Factor: £ +9t- 36 o
a. (t-2)(t+18) c. (t+12)(¢-3)
b. (t+2)(t—-18) C At =12)(r+3)

10. Factor: v¥ — 13v + 36
a. (v+3}v+12) C c. (v-4)v-9
b. (v=-3Xv-12) d v+aHv+9)

11. Factor: -84 + 8z +z°
a. (42+2}-2+2) c. (42+2)(2+2)

C
s
ﬁ C b (-6+2)(14+2) d. (6+2)(-14+2)
@

12. Factor: 25x% +58x + 16
a. (25x+4)(x+4) c. (Sx+4)(5x+4)
b, (25x+8)(x+2) d. (Sx+8)(5x+2)

13. Factor: 165 - 1375 - 63
a. (45-N4s+9) e (6s+T(s-9)
b. (4s+T)(4s-9)

A o

165 =-T)(s+9)
14. Factor: 48y* — 116y + 60
a. (16y-12)(3y=5) c. 44y-50y-3)
b. 4dy-3)3y-95) d. 44y +3)(3y +5)

15. Factor: 96w” + 324w — 42

a. 6(8w+1)2w-7) c. 6(8w-T(2w+1)
b 6(8w+7)2w-1) d  6(8w-1)Q2w+7)
2
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R
16. Expand and simplify: (10v — 13w)(10v + 13w)
a.  100v? +260vw + 169w* Ce 1002 - 169w
(\' b. 100v* + 169w? d.  100v? - 260vw + 169w’
*?7. Expand and simplify: (3¢ + 2)(2¢ —7) + 3(-2c + 1)(7c - 5)
a. —36c’ +8c—-29 c. -36c*—8-19
b —36c* +34c-29 d. -36c’-8c-29
4D 18. Factor: 16p* —8lq°
a. (4p-9g)’ c. (16p—99)p -9¢)
b. (4p+99)’° Cl (4p +99)(4p - 99) .

19. Factor: 8y* — 58yz + 60z
a. 42y-3z2)(y—52) e 24y-5z)y-6z) -

= O

b. 24y +52)(y —62) d 24y =52y + 62)
20. Factor: 3z* — 7682
ca. 3 (+16)z=16)— ¢. Z(z+48)(z-16)
ﬁ b. 32(z+16)° d. 3z'(z-16)
Q 21. Factor: 8m* —34mn +33n’

a. (4m—11n)(2m—3n) c. (4m+ 11n)(2m+3n)

kB' (8m=33n)(m-n) d  (Am-11n)2m+ 3n)
Short Answer

22. Determine the greatest common factor of 735 and 1715.
445

23. Bill and Betty do chores at home. Bill mows the lawn every 8 days, and Betty bathes the dog every 14 days.
Suppose Bill and Betty do their chores today. How many days will pass before they both do their chores on

the same day again?
r ‘
o ( (ul >

/o
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24. A cube has surface area 6900.0 cm?. What is the volume of the cube to the nearest tenth of a cubic

centimetre? L D) ‘
2% M &4 om

25. Factor the trinomial 8m’n — 18n* — 2mn.
 2n (%)

26. Write an expression for the width of this rectangle.

2a

Area = 222+ 12ab \ a/ + (_Ol(:)

@

27. Suppose you must use 1 x*-tile and 10 x-tiles. Which numbers of 1-tiles could you use to form a rectangle?

0\)\@@2\24}&6

28. Expand and simplify: (12 + g}2 - ) ‘\ Q‘
M-Dyg o A

29. Expand and simplify: (11¢+ 2)(41—3)

Hyt - 20k b
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¢ ‘ \
30. Find and correct the error(s) in this solution of factoring by decompos:tl ol
. 90y* + 77y — 52 =907 + 117y -4y — 52 ) “ (L{:j(‘ ———'4
=9%(10y + 13) +13)
=(10y+ 13)(% +4)
31. Expand and simplify: (9z° -2z + 10)(3z + 12)
’ ’ 3 L; |
21727+ 10227 b~ V20
32. Factor fully: 21p°r — 165pgr — 24q° r 5
I 4 NS¢
= < ﬁ \) |
Problem
33, a) A student says the prime factors of 13 are | and 13. Is the student correct? Explain. ~{-&'ﬁ
. ‘ GG
o CT lis not o prime

b} List all the prime numbers between 120 and 140. How do you know they are prime numbers?

FENEINGE RS

34. A rectangle is divided into 2 smaller rectangles. The area of the rectangle on the left is 209 square inches, and

35.

the area of the rectangle on the right is 319 square inches. Determine the greatest possible measure of the side
that the two rectangles share. Assume that the dimensions of each rectangle are whole numbers.

204 —=2 | 1\ 19 #o9
B —2 | 1\ 29 319
— \

C 6Ly D

Germaine wants to paint a cube with volume 2744 m?. Each tub of paint covers 79 m?. How many tubs of
paint does Germaine need to paint the cube? 2
Sk =((4)

€ 5\,‘;”LTLJ =\t
o= qd s 1\%~|+X;§l§%u

= A
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36. A student is asked to find an integer to replace [ so that x* —x +[J can be factored. The student said the only
possible integer is —56. Is the student correct? Explain. @

X 12%)(?9@‘(1\,
2, - ~12 20, . .,

37. Factor. Check by expanding.

B R
n?in—42 (_n*qw
38. Factor Sx* + 17x +6.

LIS Y

Bxlx +3) +2(XT3)
)Zém DX x+3)

39. Write a polynomial to represent the area of this rectangle. Simplify the polynomial.
6x + Jy

- quzquj-[%\j -

40. A rectangle has length 14x and width y. Strips of width x — 8 are cut from the rectangle as shown. Write an
expression that represents the area of the rectangle that remains.

A :[%xj-\%xzf O\bxrﬁi\jfty

14x

O
/o




